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QUESTION 105

This graph shows the training and validation loss against the epochs for a neural network.
The network being trained is as follows:
* Two dense layers, one output neuron

»+ 100 neurons in each layer
+ 100 epochs
- Random initialization of weights
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Which technique can be used to improve model performance in terms of accuracy in the validation set?

Early stopping

Random initialization of weights with appropriate seed
Increasing the number of epochs

Adding another layer with the 100 neurons
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Answer: C
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QUESTION 106
A Machine Learning Specialist is attempting to build a linear regression model.

Residual Plot
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Given the displayed residual plot only, what is the MOST likely problem with the model?

A. Linear regression is inappropriate. The residuals do not have constant variance.
B. Linear regression is inappropriate. The underlying data has outliers.

C. Linear regression is appropriate. The residuals have a zero mean.

D. Linear regression is appropriate. The residuals have constant variance.
Answer: D

QUESTION 107

A large company has developed a Bl application that generates reports and dashboards using data collected from
various operational metrics. The company wants to provide executives with an enhanced experience so they can use
natural language to get data from the reports. The company wants the executives to be able ask questions using
written and spoken interfaces.

Which combination of services can be used to build this conversational interface? (Choose three.)

Alexa for Business
Amazon Connect
Amazon Lex

Amazon Polly
Amazon Comprehend
Amazon Transcribe
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Answer: BEF

QUESTION 108

A machine learning specialist works for a fruit processing company and needs to build a system that categorizes apples
into three types. The specialist has collected a dataset that contains 150 images for each type of apple and applied
transfer learning on a neural network that was pretrained on ImageNet with this dataset.

The company requires at least 85% accuracy to make use of the model.

After an exhaustive grid search, the optimal hyperparameters produced the following:

- 68% accuracy on the training set
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- 67% accuracy on the validation set
What can the machine learning specialist do to improve the system's accuracy?

A. Upload the model to an Amazon SageMaker notebook instance and use the Amazon SageMaker
HPO feature to optimize the model's hyperparameters.

B. Add more data to the training set and retrain the model using transfer learning to reduce the bias.

C. Use a neural network model with more layers that are pretrained on ImageNet and apply transfer
learning to increase the variance.

D. Train a new model using the current neural network architecture.
Answer: B

QUESTION 109

A company uses camera images of the tops of items displayed on store shelves to determine which items were
removed and which ones still remain. After several hours of data labeling, the company has a total of 1,000 hand-
labeled images covering 10 distinct items. The training results were poor.

Which machine learning approach fulfills the company's long-term needs?

A. Convert the images to grayscale and retrain the model

B. Reduce the number of distinct items from 10 to 2, build the model, and iterate

C. Attach different colored labels to each item, take the images again, and build the model

D. Augment training data for each item using image variants like inversions and translations, build
the model, and iterate.

Answer: A

QUESTION 110

A Data Scientist is developing a binary classifier to predict whether a patient has a particular disease on a series of test
results. The Data Scientist has data on 400 patients randomly selected from the population.

The disease is seen in 3% of the population.

Which cross-validation strategy should the Data Scientist adopt?

A k-fold cross-validation strategy with k=5

A stratified k-fold cross-validation strategy with k=5

A k-fold cross-validation strategy with k=5 and 3 repeats
An 80/20 stratified split between training and validation
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Answer: B

QUESTION 111

A technology startup is using complex deep neural networks and GPU compute to recommend the company's products
to its existing customers based upon each customer's habits and interactions. The solution currently pulls each dataset
from an Amazon S3 bucket before loading the data into a TensorFlow model pulled from the company's Git repository
that runs locally. This job then runs for several hours while continually outputting its progress to the same S3 bucket.
The job can be paused, restarted, and continued at any time in the event of a failure, and is run from a central queue.
Senior managers are concerned about the complexity of the solution's resource management and the costs involved in
repeating the process regularly. They ask for the workload to the automated so it runs once a week, starting Monday
and completing by the close of business Friday.

Which architecture should be used to scale the solution at the lowest cost?

A. Implement the solution using AWS Deep Learning Containers and run the container as a job
using AWS Batch on a GPU-compatible Spot Instance

B. Implement the solution using a low-cost GPU-compatible Amazon EC2 instance and use the
AWS Instance Scheduler to schedule the task

C. Implement the solution using AWS Deep Learning Containers, run the workload using AWS
Fargate running on Spot Instances, and then schedule the task using the built-in task scheduler
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D. Implement the solution using Amazon ECS running on Spot Instances and schedule the task
using the ECS service scheduler.

Answer: C

QUESTION 112
A Machine Learning Specialist prepared the following graph displaying the results of k-means for k = [1..10]:
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Considering the graph, what is a reasonable selection for the optimal choice of k?

o0
SN NN

10
Answer: C

QUESTION 113

A media company with a very large archive of unlabeled images, text, audio, and video footage wishes to index its
assets to allow rapid identification of relevant content by the Research team. The company wants to use machine
learning to accelerate the efforts of its in-house researchers who have limited machine learning expertise.

Which is the FASTEST route to index the assets?

A. Use Amazon Rekognition, Amazon Comprehend, and Amazon Transcribe to tag data into distinct
categories/classes.
B. Create a set of Amazon Mechanical Turk Human Intelligence Tasks to label all footage.

C. Use Amazon Transcribe to convert speech to text. Use the Amazon SageMaker Neural Topic
Model (NTM) and Object Detection algorithms to tag data into distinct categories/classes.

D. Use the AWS Deep Learning AMI and Amazon EC2 GPU instances to create custom models for
audio transcription and topic modeling, and use object detection to tag data into distinct
categories/classes.

Answer: A

QUESTION 114
A Machine Learning Specialist is working for an online retailer that wants to run analytics on every customer visit,
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processed through a machine learning pipeline. The data needs to be ingested by Amazon Kinesis Data Streams at up
to 100 transactions per second, and the JSON data blob is 100 KB in size.

What is the MINIMUM number of shards in Kinesis Data Streams the Specialist should use to successfully ingest this
data?

1 shards

10 shards
100 shards
1,000 shards
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Answer: B

QUESTION 115

A Machine Learning Specialist is deciding between building a naive Bayesian model or a full Bayesian network for a
classification problem. The Specialist computes the Pearson correlation coefficients between each feature and finds
that their absolute values range between 0.1 to 0.95.

Which model describes the underlying data in this situation?

A naive Bayesian model, since the features are all conditionally independent.
A full Bayesian network, since the features are all conditionally independent.
A naive Bayesian model, since some of the features are statistically dependent.
A full Bayesian network, since some of the features are statistically dependent.
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Answer: C
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